MINUTES BROOKINGS COMMON COUNCIL CITY OF BROOKINGS JULY 8, 1975

The meeting was called to order at 8:05 p.m. by Mayor Robert L. Kerr. Members present were Councilmen William Guthrie, Jack Ross, and Darrell Allsup. Councilman Ellis Dowden was absent.

APPROVAL OF MINUTES:

MOTION was made by Councilman Guthrie, seconded by Councilman Ross and carried unanimously that minutes of June 10, 1975, be approved as posted.

MONTHLY REPORTS:

City Attorney - None.

City Engineer - Gary Dyer

EASY MANOR DRIVE SEWER IMPROVEMENT BIDS WERE AS FOLLOWS:

Dan D. Allsup Contractor, Inc. \$14,980.00 Ferry Creek Rock & Concrete 30,444.34 Coquille Salvage 19,708.20

MOTION was made by Councilman Ross, seconded by Councilman Guthrie and carried unanimously that the bid of Dan D. Allsup Contractor, Inc., be accepted.

WHARF STREET STORM DRAIN PROJECT. Mr. Dyer reported this project was completed on June 20, 1975.

WATER STORAGE RESERVOIR & SITE PREPARATION. U. S. Tank Construction still has some painting to complete on the reservoir and Ferry Creek Rock & Concrete has some site work yet to complete.

TRANSMISSION LINE PROJECT. Transmission line is being installed by city crew in accordance with Curry County.

FILTRATION PLANT. The design on this project is yet to be completed.

BROOKINGS-HARBOR INTERCEPTOR PROJECT. Mr. Dyer reported he had contacted E.P.A. in regard to the forthcoming grant in order to proceed with this project, and was advised verbally it would be advisable to proceed with preparation for bid openings.

MOTION was made by Councilman Ross, seconded by Councilman Allsup and carried unanimously that the City Engineer be authorized to advertise for bids on the Brookings-Harbor Interceptor to be opened on August 12, 1975, and to be awardewhen Harbor verify and approve their share of cost on this project.

Page 2 - Minutes
Brookings Common Council
City of Brookings
July 8, 1975

RESULTS OF SPECIAL ELECTION HELD JULY 7, 1975:

City Recorder reported the special election was as follows:

MEASURE PROVIDING FOR THE ESTABLISHMENT OF THE OFFICE OF CITY MANAGER

Yes Votes 166 No Votes 142

MEASURE TO LEVY A TAX OF \$9,000. IN EXCESS OF THE 6% LIMITATION

Yes Votes 164 No Votes 149

MOTION was made by Councilman Guthrie, seconded by Councilman Ross and carried unanimously that the Recorder's report on election results of the Measure Providing for the Establishment of the Office of City Manager be accepted and entered on the rolls as Ordinance No. 260 as approved by the voters.

MOTION was made by Councilman Ross, seconded by Councilman Allsup and carried unanimously that the Recorder's report on election results of the Measure to Levy a Tax of \$9,000. in Excess of the 6% Limitation be accepted.

PUBLIC HEARING:

BUDGET FOR THE FISCAL YEAR 1975-76 - Mayor Kerr announced this is the time for the Public Hearing on the budget for City of Brookings for the fiscal year 1975-76 and asked the audience and Council if there was any discussion desired. No discussion followed.

LESGISLATIVE ACTION:

1. ORDINANCE NO. 261 - AN ORDINANCE ADOPTING THE BUDGET FOR THE CITY OF BROOKINGS FOR THE FISCAL YEAR 1975-76 was read in full.

MOTION was made by Councilman Ross, seconded by Councilman Guthrie that Ordinance No. 261 be read the second time by title only. Roll call was as follows:

Mayor Kerr Yes
Councilman Allsup Yes
Councilman Guthrie Yes
Councilman Ross Yes
Councilman Dowden Absent

Ordinance No. 261 was then read the second time by title only.

Page 3 - Minutes
Brookings Common Council
City of Brookings
July 8, 1975

MOTION was made by Councilman Allsup and seconded by Councilman Ross that Ordinance No. 261 be adopted. Roll call was as follows:

Mayor Kerr		Yes
Councilman	Allsup	Yes
Councilman	Guthrie	Yes.
Councilman	Ross	Yes
Councilman	Dowden	Absent

Ordinance No. 261 was then declared adopted.

- 2. PETITION from property owners located on or near Marina Heights requesting City to put a dust supressant on Marina Heights Drive. This project has been completed.
- 3. <u>AUTHORIZATION FROM DARRELL SALISBURY</u> to purchase materials at his expense for water service to his trailer development on North Bank Chetco River.

MOTION was made by Councilman Guthrie, seconded by Councilman Allsup and carried unanimously this offer be accepted contingent upon labor expenses also to be included.

4. LETTER FROM HEALTH DIVISION in reference to supplying water service to three proposed housing developments near Arnold Lane and Mill Beach Road.

MOTION was made by Councilman Guthrie, seconded by Councilman Allsup and carried unanimously that this be tabled.

5. APPROVAL for write-off on sewer usage Account No. 1-388.

MOTION was made by Councilman Guthrie, seconded by Councilman Ross and carried unanimously that this be tabled.

6. PAYMENT OF VOUCHERS, June 1975

MOTION was made by Councilman Ross, seconded by Councilman Allsup and carried unanimously that vouchers for the month of June, in the amount of \$44,721.97, be paid.

OTHER MATTERS:

PROPOSAL FOR AUDIT REPORT BY TAD K. L. ENGMAN - Fiscal year 1974-75.

MOTION was made by Councilman Guthrie, seconded by Councilman Allsup

Page 4 - Minutes
Brookings Common Council
City of Brookings
July 8, 1975

and carried unanimously that the contract with Tad K. L. Engman, C.P.A., for the amount of \$2,950.00 be accepted.

FORMATION OF A CURRY COUNTY COUNCIL OF GOVERNMENTS. Curry County Commissioner Les Williams was in the audience and requested support from the City of Brookings to form this Curry County Council of Governments. Mr. Williams advised that Gold Beach and Port Orford were in favor.

MOTION was made by Councilman Ross, seconded by Councilman Guthrie and carried unanimously that City of Brookings is in favor of forming this Council of Governments and a letter so stating is to be forwarded to the Curry County Commissioners.

COUNCIL MEETINGS. The City Recorder was instructed to inform all City Employes that they are welcome to attend the Council meetings.

SEWER - NORTH BROOKINGS. Mr. R. Baker, D.E.Q., has inquired as to when the City will be setting up another meeting with property owners involved in forming a sewer district in North Brookings. Mayor Kerr suggested the month of September, 1975.

SEASCAPE COURT. Mr. & Mrs. E. F. Lecair advised that they now own 10 feet of Lowe Street and are willing to dedicate this 10 feet to the City of Brookings in exchange for name change to Seascape Court and storm drain repaired. Engineering Department was instructed to get a title report on this street. City Recorder was instructed to advise the Curry County Clerk that Lowe Street is now changed to Seascape Court.

AUTHORIZATION TO RETAIN INDEPENDENT SPECIAL COUNSEL. Councilman Ellis Dowden requested authorization to retain independent special counsel to re-examine the circumstances leading to the purchase of the Brookings Utility Company assets, and contracts of H.G.E., Inc. Councilman Dowden stated that he would not obligate the City at this point for any expense, but will attempt to work out some program that is within our budget and stipulate that any agreement must be approved by the Council.

MOTION was made by Councilman Guthrie, seconded by Councilman Allsup and carried unanimously that Councilman Dowden be given the above named authorization.

Page 5 - Minutes
Brookings Common Council
City of Brookings
July 8, 1975

SURPLUS EQUIPMENT.

MOTION was made by Councilman Allsup, seconded by Councilman Ross and carried unanimously that Sam Williams be given authorization to advertise for bids on surplus equipment now owned by the City.

ADJOURNMENT

MOTION was made by Councilman Ross, seconded by Councilman Guthrie and carried unanimously that the meeting be adjourned. The meeting then adjourned at 9:40 p.m.

The meeting was recorded on tape and is on file in the Recorder's Office.

Bobert J. Kerr

ATTEST:

DECODOED TOPASTIDED

VOUCHERS PAYABLE CITY OF BROOKINGS JUNE 30, 1975

Name	Amount
Acco Contractors, Inc.	\$ 5,151.90
Allen Office Equipment	2.16
Akin Motor Co., Inc.	13.60
American Linen Supply	82.43
Clinton D. Ashley	30.00
Atlantic Richfield Co.	472.86
Auto & Marine Electric	69.42
Robert E. Babb	8.45
R. R. Bowker Co.	35.99
Brookings Harbor Pilot	468.92
Brookings Office Supplies	6.38
Brookings Paint & Floor Covering	275.96
Brookings Supply Inc.	30.92
Brookings Tire Service, Inc.	19.30
Budge-McHugh Supply Co.	673.74
Champion	134.72
City Water Operation & Maintenance Fund	282.65
Coos-Curry Electric Co-Op	2,131.41
Coast to Coast Stores	93.10
Consolidated Freightways	46.80
Cora C. Cooley	5.00
Coquille Salvage	216.93
Curry County Clerk	26.00
C. M. Cross	119.35
Curry County Feed	215.68
Curry County Communications	7.50
Dan's Photography & Cameras	91.60
Daily Journal of Commerce	76.50
Ebsco Subscription Services	173.37
Dickson Concrete Pipe Co.	284.63
Samuel W. Dotson	5.90
Ed's Lock & Safe Service	10.50
Ed & Mendy's	26.47
Avery D. Ensley, Jr.	7.85
Entenman - Rovin Co.	15.75
F. C. Septic & Plumbing Supply	5.82
Feenaughty Machinery Co.	444.00
Frank's Office Equipment	124.76
Fraser-Yamor & Associates	221.00
General Telephone Co.	319.04
H.G.E., Inc.	8,940.75
Hanscam's Center	61.81

Page 2 - Vouchers Payable City of Brookings June 30, 1975

Name	Amount
H. L. Hansen	\$ 7.20
Harbor Equipment	7.50
Hatch Bros. Chemical Co.	1,372.20
Hinds Supply Co.	86.94
International Conference of Building Officials	60.00
Horton Bros., Inc.	14,661.00
Kerr Ace Hardware	192.51
Klip Stationers	38.50
Littrell Parts	64.24
Long Electric	351.53
Christina Lucas	80.00
Mobil Oil Credit Corp.	787.46
Motorola, Inc.	45.25
Marjorie B. McKernan	12.20
O'Neale's Supply	27.20
Pacific Water Works Supply	932.98
Paramount Pest Control, Inc.	5.00
Houshang Parsi	20.76
Ray's Sentry	60.93
Singleton Plumbing	325.33
Slater Communications & Electronics	476.00
South Coast Stationery	38.71
Stan's Tool & Equipment Rental	6.50
Square Deal Lumber Yard, Inc.	1,445.85
Tubby's	3.75
Water Metrics Co.	634.61
Weaver's Machine Shop	13.20
Western Bank	1.67
Western States Fire Apparatus, Inc.	30.84
Whitey's Richfield	19.51
Radio Shack - Aquarius Center	9.98
McNaughton Book Service	50.20
Macmillan Publishing	48.74
Western Union	26.30
Writer's Digest	8.76
Charles C. Williams	212.50
Sam Williams	130.50
U. S. Post Office	150.00
League of Oreg. Cities	644.70 \$44,521.97
Total	
Brookings Fire Department	200.00
	\$44,721.97

VOUCHERS PAYABLE CITY OF BROOKINGS JULY 31, 1975

Acco Contractors, Inc. \$250.90 Akin Motor Co., Inc. 84.45 American Linen Supply 77.50 Darrell Ames, Finance Officer 131.00 Kelly Anderson 51.68 Appel's Home Furnishings 155.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Office Supplies 11.50 Brookings Suply, Inc. 57.72 Brookings Suply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Brookings Tire Service, Inc. 129.77 Brookings Tire Service, Inc. 129.77 Brookings Tire Service, Inc. 68.13
Akin Motor Co., Inc. 84.45 American Linen Supply 77.50 Darrell Ames, Finance Officer 131.00 Kelly Anderson 51.68 Appel's Home Furnishings 135.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast Fire Extinguishers 16.55
American Linen Supply 77.50 Darrell Ames, Finance Officer 131.00 Kelly Anderson 51.68 Appel's Home Furnishings 135.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Office Supplies 11.50 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast fire Extinguishers 29.20
Darrell Ames, Finance Officer 131.00 Kelly Anderson 51.68 Appel's Home Furnishings 135.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Kelly Anderson 51.68 Appel's Home Furnishings 135.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Fire Department 250.00 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Office Supplies 11.50 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.15 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Appel's Home Furnishings 135.00 Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.15 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Ray Armbruster 465.00 Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Office Supplies 11.50 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Atlantic Richfield Co. 320.12 B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings Office Supplies 11.50 Brookings Office Supplies 11.50 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brode-Methugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
B & L Kawasaki, Inc. 48.00 B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Supply, Inc. 129.77 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
B & W Builders Supply 90.14 Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Supply, Inc. 129.77 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Robert E Babb 8.45 Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Betty J Baker 9.00 Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Barco Coastal Supply, Inc. 102.75 Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Sara Biddle 9.00 Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Mary Jane Brimm 26.00 Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Brookings Electronic Service 126.19 Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Brookings Fire Department 250.00 Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Brookings-Harbor Pilot 352.82 Brookings Office Supplies 11.50 Brookings Plywood Corp. 15.00 Brookings Shell 126.19 Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Brookings Office Supplies Brookings Plywood Corp. Brookings Shell Brookings Supply, Inc. Brookings Tire Service, Inc. Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. City Water Operation & Maintenance Fund Carke Office Products, Inc. Coast to Coast Stores Coast Fire Extinguishers 11.50 12.00 126.19 126.19 129.77 129.77 129.77 129.77 134.95 134.95 134.95 134.95 134.95 134.95 134.95
Brookings Plywood Corp. Brookings Shell Brookings Supply, Inc. Brookings Tire Service, Inc. Brookings Tire Service, Inc. Budge-McHugh Supply Co. City Water Operation & Maintenance Fund C& E Auto Repair Clarke Office Products, Inc. Coast to Coast Stores Coast Fire Extinguishers 15.00 126.19 126.19 129.77 129.77 129.77 134.95 134.95 134.95 134.95 134.95 134.95 134.08 134.08 134.08
Brookings Shell Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. City Water Operation & Maintenance Fund 134.95 C & E Auto Repair Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers
Brookings Supply, Inc. 57.72 Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Brookings Tire Service, Inc. 129.77 Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Budge-McHugh Supply Co. 345.11 City Water Operation & Maintenance Fund 134.95 C & E Auto Repair 484.08 Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
City Water Operation & Maintenance Fund C & E Auto Repair Clarke Office Products, Inc. Coast to Coast Stores Coast Fire Extinguishers 134.95 484.08 68.13 134.95 16.55
C & E Auto Repair Clarke Office Products, Inc. Coast to Coast Stores Coast Fire Extinguishers 484.08 68.13 29.20 16.55
Clarke Office Products, Inc. 68.13 Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Coast to Coast Stores 29.20 Coast Fire Extinguishers 16.55
Coast Fire Extinguishers 16.55
Chetco Gas 20.00
Chetco Rexall Drug, Inc. 6.98
Cora C. Cooley 5.00
Curry County Communications 125.30
Curry County Feed 80.00
Curry Glass, Inc.
Curry County Road Dept. 3.32
C. M. Cross 9.35
Da-Tone Construction 1,860.00
Daily Journal of Commerce 136.50
Del-Cur Supply Co-op 6.00

Page 2 - Vouchers Payable City of Brookings July 31, 1975

Name	Amount
Dickson Concrete Pipe Co.	\$ 829.00
Samuel W. Dotson	5.90
Kathaleen Dowden	26.00
Avery D. Ensley, Jr.	7.85
Merle Frank	250.00
Frank's Office Equipment	313.40
Wm. M. Ferguson	45.39
General Telephone	462.68
Glen's Cabinets	447.90
H.G.E., Inc.	5,455.44
Hatch Chemical Co.	84.72
Hanscam's Center, Oreg. Ltd.	43.30
Harbor Appliance Sales	10.00
Harbor Cycle	40.10
Harbor Equipment	9.25
Harbor Logging Supply, Inc.	165.10
Hatch Bros. Chemical Co.	360.00
House Of Fashions	1.25
Edith Hynes	9.00
Kerr Ace Hardware	172.29
Robert L. Kerr	195.30
Klip Stationers	38.50
Sally Kruse	20.08
Littrell Parts	250.22
Long Electric	148.24
Loring's Lighthouse	27.60
Christina Lucas	120.00
Mattie's Pantry	13.80
McInturff, Thom, & Collver	354.55
Marjorie B. McKernan	12.20
McNaughton Book Service	43.95
Millipore Corp.	26.88
Mobil Oil Credit Corp.	691.24
Motorola Inc.	45.25
Mom's Cafe	5.25
Mountain Springs Bottled Water Co.	18.00
Bob Nonemaker	7.00
Ed Oar	7.00
O'Neals Supply	150.00
Pacific Water Works Supply Co.	433.57
Paramount Pest Control, Inc.	5.00

Page 3 - Vouchers Payable City of Brookings July 31, 1975

Name		Amount
Penwalt Corp.		\$ 92.00
Leatha Phillips		9.00
Power Products, Inc.		54.18
Ray's Sentry		79.18
Angie Ross		25.84
Jack Ross		41.20
Peggy Ross		69.45
S & S Products, Inc.		255.00
Sam's A & W		12.75
Slater's Communications & Electronics		114.00
South Coast Stationery		172.16
Stan's Tool & Equipment		6.50
Stalcup Equipment Co.		19.36
Square Deal Lumber Yard		14.64
Eliese J. Swigert		26.00
Linda Tantare		25.84
Ted's Drive Inn		1.30
The American National		100.00
The Stockade		18.18
Universal Equipment, Inc.		147.20
U. S. Post Office		150.00
United Industries		4.63
Van Waters & Rogers		93.50
Weaver's Machine Shop		14.40
Western Union		33.30
Western States Fire Apparatus		197.20
Whitey's Richfield		17.28
Charles C. Williams		257.50
Sam Williams		5.50
Oregon Coast Association		100.00
Oregon Mayors Association		31.00
Oregon Municipal Finance Officers Assoc.		5.00
Secretary of State, Election Division		8.11
Add:	Total	\$23,281.85
Horton Bros., Inc.		12,257.00
	Total	\$35,538.85
Add:	23000	5.50
Paul Eide, Jr. Hinds Supply Co.		4,027.20
ning suppij oo.	Grand Total	\$39,571,55
	The state of the s	*27,77,12,77

Brookings-Harbor Interceptor Sewer City of Brookings City Hall Brookings, OR 97415

Project #1812-E-74

H. G. E., INC. Engineers & Planners 405 North Fifth Coos Bay, OR 97420 August 12, 1975

...BID TABULATION...

ITEM	Ken Bostic	Bryan Morrison	JBS Construction	Coquille Salvage	Horton Brothers
	Route 1, Box 468	P.O. Box 256	3055 Ocean Blvd.	Route 1, Box 93 B	P.O. Box "H"
	Eugene, OR 97402	Hillsboro, OR 97123	Coos Bay, OR 97420	Brookings, OR 97415	Brookings, OR 97415
(01) Trench Excavation					
1.1 Unclassified Excavation, 0 to 6 Feet Deep 1,030 lineal feet	\$ 4.10	\$ 5.00	\$ 4.75	\$ 10.00	\$ 2.00
	\$ 4,223.00	\$ 5,150.00	\$ 4,892.50	\$ 10,300.00	\$ 2,060.00
1.2 Unclassified Excavation, 6 to 8 Feet Deep 1,140 lineal feet	\$ 4.20	\$ 6.00	\$ 5.45	\$ 12.50	\$ 2.50
	\$ 4,788.00	\$ 6,840.00	\$ 6,213.00	\$ 14,250.00	\$ 2,850.00
1.3 Unclassified Excavation, 8 to 10 Feet Deep, 1,660 lineal feet	\$ 5.20	\$ 7.00	\$ 7.50	\$ 15.00	\$ 3.00
	\$ 8,632.00	\$ 11,620.00	\$ 12,450.00	\$ 24,900.00	\$ 4,980.00
1.4 Unclassified Excavation, 10 to 12 Feet Deep, 580 lineal feet	\$ 5.40	\$ 10.00	\$ 9.00	\$ 22.00	\$ 3.50
	\$ 3,132.00	\$ 5,800.00	\$ 5,220.00	\$ 12,760.00	\$ 2,030.00
1.5 Unclassified Excavation, 12 to 15 Feet Deep, 40 lineal feet	\$ 7.00	\$ 15.00	\$ 25.00	\$ 40.00	\$ 10.00
	\$ 280.00	\$ 600.00	\$ 1,000.00	\$ 1,600.00	\$ 400.00
1.6 Rock Excavation, 250 cubic yards	\$ 30.00	\$ 30.00	\$ 35.00	\$ 52.00	\$ 40.00
	\$ 7,500.00	\$ 7,500.00	\$ 8;750.00	\$ 13,000.00	\$ 10,000.00
(02) Trench Backfill		,			
1 Class 1 Backfill, 1,510 cubic yards	\$ 0.50	\$ 3.00	\$ 7.00	\$ 5.50	\$ 2.50
	\$ 755.00	\$ 4,530.00	\$ 10,570.00	\$ 8,305.00	\$ 3,775.00
2.2 Class 3 Backfill, 3,720 cubic yards	\$ 3.00	\$ 5.00	\$ 8.00	\$ 4.25	\$ 5.50
	\$.11,160.00	\$ 18,600.00	\$ 29,760.00	\$ 15,810.00	\$ 20,460.00

Brookings-Harbor Interceptor Sewer City of Brookings
City Hall
Brookings, OR 97415

Project #1812-E-74

H. G. E., INC. Engineers & Planners 405 North Fifth Coos Bay, OR 97420

August 12, 1975

...BID TABULATION...

			·	
ITEM	Riverside Construct.	Dan D. Allsup	Industrial Pipeline Frontier Const.	Ray Bertelsen Co.Inc.
	P.O. Box 22042	1460 Jeppesen Ave.	330 South 3rd. P.O. Box 19034	P.O. Box 1368
	Milwaukie, OR 97222	Eugene, OR	Springfield,OR 97477 Portland,OR 97219	Marysville, CA 95901
(01) Trench Excavation			ā	
1.1 Unclassified Excavation, 0 to 6 Feet Deep 1,030 lineal feet	\$ 3.70	\$ 8.05	\$ 2.95 \$ 5.00	\$ 1.00
	\$ 3,811.00	\$ 8,291.50	\$ 3,038.50 \$ 5,150.00	\$ 1,030.00
1.2 Unclassified Excavation, 6 to 8 Feet Deep 1,140 lineal feet	\$ 4.90	\$ 9.40	\$ 4.70 \$ 7.00	\$ 1.50
	\$ 5,586.00	\$ 10,716.00	\$ 5,358.00 \$ 7,980.00	\$ 1,710.00
1.3 Unclassified Excavation, 8 to 10 Feet Deep, 1,660 lineal feet	\$ 6.05	\$ 10.60	\$ 7.50 \$ 10.00	\$ 2.00
	\$ 10,043.00	\$ 17,596.00	\$ 12,450.00 \$ 16,600.00	\$ 3,320.00
1.4 Unclassified Excavation, 10 to 12 Feet Deep, 580 lineal feet	\$ 8.00	\$ 12.00	\$ 8.90 \$ 15.00	\$ 2.50
	\$ 4,640.00	\$ 6,960.00	\$ 5,162.00 \$ 8,700.00	\$ 1,450.00
1.5 Unclassified Excavation, 12 to 15 Feet Deep, 40 lineal feet	\$ 10.00	\$ 16.00	\$ 30.00 \$ 18.00	\$ 3.00
	\$ 400.00	\$ 640.00	\$ 1,200.00 \$ 720.00	\$ 120.00
1.6 Rock Excavation, 250 cubic yards	\$ 35.00	\$ 70.00	\$ 34.00 \$ 35.00	\$ 10.00
	\$ 8,750.00	\$ 17,500.00	\$ 8,500.00 \$ 8,750.00	\$ 2,500.00
(02) Trench Backfill				<i>6</i> 7.
1 Class 1 Backfill, 1,510 cubic yards	\$ 2.00	\$ 4.20	\$ 3.25 \$ 2.00	\$ 1.00
	\$ 3,020.00	\$ 6,342.00	\$ 4,907.50 \$ 3,020.00	\$ 1,510.00
2.2 Class 3 Backfill, 3,720 cubic yards	\$ 7.00	\$ 7.30	\$ 6.75 \$ 5.00	\$ 1.50
	\$ 26,040.00	\$ 27,156.00	\$ 25,110.00 \$ 18,600.00	\$ 5,580.00

Crookings-Harbor Interceptor Sewer City of Brookings City Hall Brookings, OR 97415

Project #1812-E-74

H. G. E., INC. Engineers & Planners 405 North Fifth Coos Bay, OR 97420

August 12, 1975

...BID TABULATION...

C ITEM	Rex Kimsey Const. Co P.O. Box 396 Stayton, OR 97383	Roy D. Garren Route 2, Box 210 Myrtle Creek, OR				
(01) Trench Excavation		97457		ï		
1.1 Unclassified Excavation, 0 to 6 Feet Deep	\$ 3.40 \$ 3,502.00	\$ 3.00 \$ 3,090.00	\$ \$	\$ \$	\$ \$	
1.2 Unclassified Excavation, 6 to 8 Feet Deep	\$ 4.00 \$ 4,560.00	\$ 4.00 \$ 4,560.00	\$ \$	\$ \$	\$ \$	
1.3 Unclassified Excavation, 8 to 10 Feet Deep, 1,660 lineal feet	\$ 5.35 \$ 8,881.00	\$ 5.00 \$ 8,300.00	\$ \$	\$ \$	\$ \$	
1.4 Unclassified Excavation, 10 to 12 Feet Deep, 580 lineal feet	\$ 10.60 \$ 6,148.00	\$ 7.00 \$ 4,060.00	\$ \$	\$ \$	\$	
1.5 Unclassified Excavation, 12 to 15 Feet Deep, 40 lineal feet	\$ 16.70 \$ 668.00	\$ 13.00 \$ 520.00	\$ \$	\$ 	\$ \$	•4
1.6 Rock Excavation, 250 cubic yards	\$ 35.00 \$ 8,750.00	\$ 60.00 \$ 15,000.00	\$ \$	\$ \$	\$ 	
(02) Trench Backfill						
2.1 Class 1 Backfill, 1,510 cubic yards	\$ 2.70 \$ 4,077.00	\$ 2.00 \$ 3,020.00	\$ \$	\$ \$	\$ \$	
2.2 Class 3 Backfill, 3,720 cubic yards	\$ 5.00 \$ 18,600.00	\$ 10.00 \$ 37,200.00	\$ \$	\$	\$	

ITEM	Ken Bostic	Bryan Morrison	JBS Construction	Coquille Salvage	Horton Brothers	
(03) Gravel Base for Pipe Zone and Pipe Base					;	
3.1 Foundation Stabilization Materials, 200 cubic yards	\$ 4.50 \$ 900.00	\$ 5.00 \$ 1,000.00	\$ 5.00 \$ 1,000.00	\$ 6.75 \$ 1,350.00	\$ 10.00 \$ 2,000.00	-
3.2 Gravel Bedding Materials, 460 cubic yards	\$ 4.20 \$ 1,932.00	\$ 5.00 \$ 2,300.00	\$ 8.00 \$ 3,680.00	\$ 4.75 \$ 2,185.00	\$ 7.00 \$ 3,220.00	
(04) Gravel Surfacing						
4.1 1 1/2"-0 Gravel Surfacing, 580 cubic yards	\$ 4.20 \$ 2,436.00	\$ 6.00 \$ 3,480.00	\$ 8.00 \$ 4,640.00	\$ 5.00 \$ 2,900.00	\$ 9.75 \$ 5,655.00	
4.2 3/4"-0 Gravel Surfacing and Binder Course, 200 cubic yards	\$ 4.20 \$ 840.00	\$ 6.00 \$ 1,200.00	\$ 6.00 \$ 1,200.00	\$ 6.00 \$ 1,200.00	\$ 9.75 \$ 1,950.00	
(05) Sewer Pipe Installation						
5.1 12 Inch Concrete Rubber Ring Pipe, 190 lineal feet	\$ 12.90 \$ 2,451.00	\$ 7.00 \$ 1,330.00	\$ 6.00 \$ 1,140.00	\$ 6.50 \$ 1,235.00	\$ 13.00 \$ 2,470.00	_
5.2 18 Inch Concrete Rubber Ring Pipe, 85 lineal feet	\$ 11.00 \$ 935.00	\$ 14.00 \$ 1,190.00	\$ 9.00 \$ 765.00	\$ 13.00 \$ 1,105.00	\$ 22.00 \$ 1,870.00	
5.3 21 Inch Concrete Rubber Ring Pipe, 4,175 lineal feet	\$ 12.60 \$ 52,605.00	\$ 22.00 \$ 91,850.00	\$ 12.00 \$_50,100.00	\$ 16.40 \$ 68,470.00	\$ 18.00 \$ 75,150.00	
5.4 Reconnect Existing Service Laterals, destroyed during construction, 8 each	\$ 100.00 \$ 800.00	\$ 100.00 \$ 800.00	\$ 100.00 \$ 800.00	\$ 100.00 \$ 800.00	\$ 500.00 \$ 4,000.00	#- #
5.5 6 Inch on 21 Inch Concrete Tees, 8 each	\$ 35.00 \$ 280.00	\$ 150.00 \$ 1,200.00	\$ 50.00 \$ 400.00	\$ 60.00 \$ 480.00	\$ 100.00 \$ 800.00	

ITEM	Riverside Const.	Dan D. Allsup	Industrial Pipeline	Frontier Const.	Ray Bertelsen Co.Inc.
(03) Gravel Base for Pipe Zone and Pipe Base					
3.1 Foundation Stabilization Materials, 200 cubic yards	\$ 12.00	\$ 10.00	\$ 6.30	\$ 5.00	\$ 4.25
	\$ 2,400.00	\$ 2,000.00	\$ 1,260.00	\$ 1,000.00	\$ 850.00
3.2 Gravel Bedding Materials, 460 cubic yards	\$ 8.00	\$ 10.00	\$ 6.25	\$ 5.00	\$ 3.50
	\$ 3,680.00	\$ 4,600.00	\$ 2,875.00	\$ 2,300.00	\$ 1,610.00
(04) Gravel Surfacing					• .
4.1 1 1/2"-0 Gravel Surfacing, 580 cubic yards	\$ 7.50	\$ 10.00	\$ 6.20	\$ 6.00	\$ 3.50
	\$ 4,350.00	\$ 5,800.00	\$ 3,596.00	\$ 3,480.00	\$ 2,030.00
4.2 3/4"-0 Gravel Surfacing and Binder Course, 200 cubic yards	\$ 8.00	\$ 10.00	\$ 6.20	\$ 6.00	\$ 3.50
	\$ 1,600.00	\$ 2,000.00	\$ 1,240.00	\$ 1,200.00	\$ 700.00
(05) Sewer Pipe Installation	•				
5.1 12 Inch Concrete Rubber Ring Pipe, 190 lineal feet	\$ 7.00	\$ 23.56	\$	\$ 7.00	\$ 12.00
	\$ 1,330.00	\$ 4,476.40	\$_NO_BID	\$ 1,330.00	\$ 2,280.00
5.2 18 Inch Concrete Rubber Ring Pipe, 85 lineal feet	\$ 14.00	\$ 16.20	\$	\$ 11.00	\$ 17.00
	\$ 1,190.00	\$ 1,377.00	\$_NO'BID	\$ 935.00	\$ 1,445.00
5.3 21 Inch Concrete Rubber Ring Pipe, 4,175 ineal feet	\$ 16.00	\$ 17.35	\$	\$ 13.00	\$ 25.00
	\$ 66,800.00	\$ 72,436.25	\$_NO_BID	\$ 54,275.00	\$ 104,375.00
5.4 Reconnect Existing Service Laterals, destroyed during construction, 8 each	\$ 100.00	\$ 140.00	\$ 175.00	\$ 150.00	\$ 100.00
	\$ 800.00	\$ 1,120.00	\$ 1,400.00	\$ 1,200.00	\$ 800.00
5.5 6 Inch on 21 Inch Concrete Tees, 8 each	\$ 90.00 \$ 720.00	\$ 100.00 \$ 800.00	\$ NO BID	\$ 30.00 \$ 240.00	\$ 100.00 \$ 800.00

						 ~		
ITEM	Rex Kimsey Const.	Roy D. Garren	·				2√	
(03) Gravel Base for Pipe Zone and Pipe Base							· ·	
3.1 Foundation Stabilization Materials, 200 cubic yards	\$ 6.50 \$ 1,300.00	\$ 5.00 \$ 1,000.00	\$ \$	\$ \$		\$ \$	`	_
3.2 Gravel Bedding Materials, 460 cubic yards	\$ 6.50 \$ 2,990.00	\$ 7.00 \$ 3,220.00	\$ \$	\$ \$		\$ \$		-
(04) Gravel Surfacing	,				•		•	
4.1 1 1/2"-0 Gravel Surfacing, 580 cubic yards	\$ 5.40 \$ 3,132.00	\$ 8.00 \$ 4,640.00	\$ \$	\$ \$		\$ \$	_	
4.2 3/4"-0 Gravel Surfacing and Binder Course, 200 cubic yards	\$ 7.30 \$ 1,460.00	\$ 8.00 \$ 1,600.00	\$ \$	\$ \$		\$ \$		-
(05) Sewer Pipe Installation		•						
5.1 12 Inch Concrete Rubber Ring Pipe, 190 lineal feet	\$ 8.00 \$ 1,520.00	\$ 6.00 \$ 1,140.00	\$ \$	\$ \$		\$ \$		_
5.2 18 Inch Concrete Rubber Ring Pipe, 85 lineal feet	\$ 12.40 \$ 1,054.00	\$ 10.00 \$ 850.00	\$ \$	\$ \$		\$ \$		
5.3 21 Inch Concrete Rubber Ring Pipe, 4,175 lineal feet	\$ 12.50 \$ 52,187.50	\$ 14.40 \$ 60,120.00	\$ \$	\$ \$		\$		-
5.4 Reconnect Existing Service Laterals, destroyed during construction, 8 each	\$ 75.00 \$ 600.00	\$ 100.00 \$ 800.00	\$ \$	\$ \$		\$		
5.5 6 Inch on 21 Inch Concrete Tees, 8 each	\$ 76.00 \$ 608.00	\$ 200.00 \$ 1,600.00	\$ · \$	\$ \$		\$		•

Brookings-Harbor Interceptor Sewer . City of Brookings - Bid Tabulation Project #1812-E-74 - Page 3

ITEM	Ken Bostick	Bryan Morrison	JBS Construction	Coquille Salvage	Horton Brothers	
5.6 8 Inch Concrete End Plugs, 2 each 5.7 6 Inch Concrete Service Laterals, 320 lineal feet	\$ 10.00 \$ 20.00 \$ 6.00 \$ 1,920.00	\$ 5.00 \$ 10.00 \$ 15.00 \$ 4,800.00	\$ 25.00 \$ 50.00 \$ 8.00 \$ 2,560.00	\$ 25.00 \$ 50.00 \$ 3.50 \$ 1,120.00	\$ 130.00 \$ 260.00 \$ 10.00 \$ 3,200.00	
(06) Manhole Construction	V		Y	1		
6.1 Standard Manholes, 0 to 8 Feet Deep, 9 each	\$ 530.00 \$ 4,770.00	\$ 700.00 \$ 6,300.00	\$ 650.00 \$ 5,850.00	\$ 730.00 \$ 6,570.00	\$ 600.00 \$ 5,400.00	
6.2 Watertight Standard Manholes, 0 to 8 Feet Deep, 5 each.	\$ 650.00 \$ 3,250.00	\$ 900.00 \$ 4,500.00	\$ 750.00 \$ 3,750.00	\$ 835.00 \$ 4,175.00	\$ 700.00 \$ 3,500.00	
6.3 Special Watertight Manholes, 0 to 8 Feet Deep, 1 each.	\$800.00	\$_2,500.00	\$1,100.00	\$925.00	\$	
6.4 Special Drop Manholes, 0 to 8 Feet Deep, 1 each.	\$	\$1,200.00	\$1,400.00	\$840.00	\$ 800.00	
6.5 Tap Existing Manholes, 3 each	\$ 150.00 \$ 450.00	\$ 300.00 \$ 900.00	\$ 150.00 \$ 450.00	\$ 200.00 \$ 600.00	\$ 500.00 \$ 1,500.00	
6.6 Extra Manhole Depth, 11 lineal feet	\$ 32.00 \$ 352.00	\$ 50.00 \$ 550.00	\$ 35.00 \$ 385.00	\$ 90.00 \$ 990.00	\$ 75.00 \$ 825.00	
(07) Asphalt Replacement, 360 tons	\$ 35.00 \$ 12,600.00	\$ 30.00 \$ 10,800.00	\$ 40.00 \$ 14,400.00	\$ 50.00 \$ 18,000.00	\$ 39.00 \$ 14,040.00	
TOTAL BASIC BID	\$ 128,511.00	\$ 196,550.00	\$ 172,525.50	\$ 213,920.00	\$ 173,945.00 	:==

Brookings-Harbor Interceptor Sewer City of Brookings - Bid Tabulation Project #1812-E-74 - Page 3

ITEM	Riverside Const.	Dan D. Allsup	Industrial Pipelin	Frontier Const.	Ray Bertelsen Co.Inc.
5.6 8 Inch Concrete End Plugs, 2 each 5.7 6 Inch Concrete Service Laterals, 320 lineal feet	\$ 7.00	\$ 40.00	\$	\$ 10.00	\$ 12.00
	\$ 14.00	\$ 80.00	\$ NO BID	\$ 20.00	\$ 24.00
	\$ 6.00	\$ 16.00	\$	\$ 5.00	\$ 7.00
	\$ 1,920.00	\$ 5,120.00	\$ NO BID	\$ 1,600.00	\$ 2,240.00
(06) Manhole Construction	<u> </u>				
6.1 Standard Manholes, 0 to 8 Feet Deep, 9 each	\$ 575.00	\$ 600.00	\$ 575.00	\$ 600.00	\$ 800.00
	\$ 5,175.00	\$ 5,400.00	\$ 5,175.00	\$ 5,400.00	\$ 7,200.00
6.2 Watertight Standard Manholes, 0 to 8 Feet Deep, 5 each.	\$ 700.00	\$ 700.00	\$ 650.00	\$ 750.00	\$ 800.00
	\$ 3,500.00	\$ 3,500.00	\$ 3,250.00	\$ 3,750.00	\$ 4,000.00
6.3 Special Watertight Manholes, 0 to 8 Feet Deep, 1 each.	\$850.00	\$1,000.00	\$	\$_1,200.00	\$ 1,525.00
6.4 Special Drop Manholes, 0 to 8 Feet Deep, 1 each.	\$1,200.00	\$980.00	\$675.00	\$1,500.00	\$ 500.00
6.5 Tap Existing Manholes, 3 each	\$ 100.00	\$ 200.00	\$ 175.00	\$ 200.00	\$ 400.00
	\$ 300.00	\$ 600.00	\$ 525.00	\$ 600.00	\$ 1,200.00
6.6 Extra Manhole Depth, 11 lineal feet	\$ 50.00	\$ 50.00	\$ 55.00	\$ 40.00	\$ 100.00
	\$ 550.00	\$ 550.00	\$ 605.00	\$ 440.00	\$ 1,100.00
(07) sphalt Replacement, 360 tons	\$ 22.00	\$ 40.00	\$ 45.00	\$ 45.00	\$ 5.00
	\$ 7,920.00	\$ 14,400.00	\$ 16,200.00	\$ 16,200.00	\$ 1,800.00
TOTAL BASIC BID	\$ 166,589.00	\$ 221,441.15	\$ 103,227.00	\$ 166,190.00	\$ 151,699.00

ITEM	Rex Kimsey Const.	Roy D. Garren	€			
5.6 8 Inch Concrete End Plugs, 2 each	\$ 5.00 \$ 10.00 \$ 12.25	\$ 10.00 \$ 20.00 \$ 20.00	\$ \$	\$ \$ \$	\$ \$\$	
5.7 6 Inch Concrete Service Laterals, 320 lineal feet (06) Manhole Construction	\$ 3,920.00	\$ 6,400.00	\$	\$	\$	London Control
6.1 Standard Manholes, 0 to 8 Feet Deep, 9 each	\$ 800.00 \$ 7,200.00	\$ 1,000.00 \$ 9,000.00	\$ \$	\$ \$	\$	
6.2 Watertight Standard Manholes, 0 to 8 Feet Deep, 5 each.	\$ 950.00 \$ 4,750.00	\$ 1,200.00 \$ 6,000.00	\$ 	\$ 	\$	
6.3 Special Watertight Manholes, 0 to 8 Feet Deep, 1 each.	\$ 2,000.00	\$1,500.00	. \$	\$	\$	
6.4 Special Drop Manholes, 0 to 8 Feet Deep, 1 each.6.5 Tap Existing Manholes, 3 each	\$ 2,200.00 \$ 350.00	\$ 2,000.00 \$ 100.00	\$ \$	\$ \$	\$ \$	
6.6 Extra Manhole Depth, 11 lineal feet	\$ 1,050.00 \$ 40.00 \$ 440.00	\$ 300.00 \$ 1,00.00 \$ 1,100.00	\$ \$ \$	\$ \$ \$	\$ \$	
(07()sphalt Replacement, 360 tons	\$ 35.00 \$ 12,600.00	\$ 65.00 \$ 23,400.00	\$ \$	\$	\$	
TOTAL BASIC BID	\$ 154,207.50	\$ 200,440.00	\$: ====================================	\$	\$:====================================	:===

ITEM	Ken Bostick	Bryan Morrison	JBS Construction	Coquille Salvage	Horton Br ot hers
ALTERNATE #1 (05) Sewer Pipe Installation	•		5		•
5.1 12 Inch Asbestos-Cement Pipe, Class 2400, 190 lineal feet	\$ 13.05	\$ 6.00	\$ 5.50	\$ 5.50	\$ 13.00
	\$ 2,479.50	\$ 1,140.00	\$_1,045.00	\$ 1,045.00	\$ 2,470.00
5.2 18 Inch Asbestos-Cement Pipe, Class 2400, 85 lineal feet	\$ 10.60	\$ 13.00	\$ 9.00	\$ 11.00	\$ 22.00
	\$ 901.00	\$ 1,105.00	\$ 765.00	\$ 935.00	\$ 1,870.00
5.3 20 Inch Asbestos-Cement Pipe, Class 2400, 4,175 lineal feet	\$ 12.65	\$ 21.00	\$ 11.50	\$ 14.50	\$ 17.00
	\$ 52,813.75	\$ 87,675.00	\$ 48,012.50	\$ 60,537.50	\$ 70,975.00
5.5 6 Inch on 21 Inch Asbestos-Cement Tees, 8 each	\$ 85.00	\$ 150.00	\$ 75.00	\$ 90.00	\$ 100.00
	\$ 680.00	\$ 1,200.00	\$ 600.00	\$ 720.00	\$ 800.00
5.6 8 Inch Asbestos-Cement End Plugs, 2 each	\$ 5.00	\$ 5.00	\$ 10.00	\$ 20.00	\$ 130.00
	\$ 10.00	\$ 10.00	\$ 20.00	\$ 40.00	\$ 260.00
5.7 6 Inch Asbestos-Cement Service Laterals, 320 lineal feet	\$ 6.10	\$ 15.00	\$ 8.00	\$ 3.50	\$ 9.00
	\$ 1,952.00	\$ 4,800.00	\$ 2,560.00	\$ 1,120.00	\$ 2,880.00
TOTAL ALTERNATE #1	\$ 58,836.25	\$ 95,930.00 ==========	\$ 53,002.50	\$ 64,397.50 ========	\$ 79,255.00
(ADD)(DEDUCT) from the Basic Contract the Sum of	ADD \$ 625.25	DEDUCT \$ 4,450.00	DEDUCT \$ 2,012.50	DECUCT \$ 8,062.50	DEDUCT 3 4,495.QQ
(Cross out one to show appropriate word)					

Brookings-Harbor Interceptor Sewer City of Brookings - Bid Tabulation Project #1812-E-74 - Page 4

ITEM	Riverside Const.	Dan D. Allsup	Industrial Pipeline	Frontier Const.	Ray Bertelsen Co.Inc.
ALTERNATE #1 ==()==================================	•		υ,		
5.1 12 Inch Asbestos-Cement Pipe, Class 2400, 190 lineal feet	\$ 7.00	\$ 13.46	\$ 7.50	\$ 7.00	\$ 10.00
	\$ 1,330.00	\$ 2,557.40	\$ 1,425.00	\$ 1,330.00	\$ 1,900.00
5.2 18 Inch Asbestos-Cement Pipe, Class 2400, 85 lineal feet	\$ 14.00	\$ 15.10	\$ 11.00	\$ 11.00	\$ 15.00
	\$ 1,190.00	\$ 1,283.50	\$ 935.00	\$ 935.00	\$ 1,275.00
5.3 20 Inch Asbestos-Cement Pipe, Class 2400, 4,175 lineal feet	\$ 16.00	\$ 13.50	\$ 13.00	\$ 13.40	\$ 23.00
	\$ 66,800.00	\$ 56,362.50	\$ 54,275.00	\$ 55,945.00	\$ 96,025.00
5.5 6 Inch on 21 Inch Asbestos-Cement Tees, 8 each	\$ 90.00	\$ 100.00	\$ 85.00	\$ 100.00	\$ 50.00
	\$ 720.00	\$ 800.00	\$ 680.00	\$ 800.00	\$ 400.00
5.6 8 Inch Asbestos-Cement End Plugs, 2 each	\$ 7.00	\$ 25.00	\$ 15.00	\$ 5.00	\$ 7.50
	\$ 14.00	\$ 50.00	\$ 30.00	\$ 10.00	\$ 15.00
5.7 6 Inch Asbestos-Cement Service Laterals, 320 lineal feet	\$ 6.00	\$ 15.90	\$ 5.30	\$ 5.50	\$ 5.00
	\$ 1,920.00	\$ 5,088.00	\$ 1,696.00	\$ 1,760.00	\$ 1,600.00
TOTAL ALTERNATE #1	\$ 71,974.00	\$ 66,141.40	\$ 59,041.00	\$ 60,780.00	\$ 101,215.00 ===================================
(ADD)(DEDUCT) from the Basic Contract the Sum of	\$ 0.00	DEDUCT \$ 18,148.25	ADD \$ 59,041.00	ADD \$ 2,380.00	DEDUCT \$ 9,949.00
(Cross out one to show appropriate word)				•	

Brookings-Harbor Interceptor Sewer City of Brookings - Bid Tabulation Project #1812-E-74 - Page 4

ITEM	Rex Kimsey Const.	Roy D. Garren					
ALTERNATE #1(\======= (05) Sewer Pipe Installation			, U 1		•		
5.1 12 Inch Asbestos-Cement Pipe, Class 2400, 190 lineal feet	\$ 8.00 \$ 1,520.00	\$ 5.00 \$ 950.00	\$ \$	\$ \$	\$ \$		
5.2 18 Inch Asbestos-Cement Pipe, Class 2400, 85 lineal feet	\$ 11.45 \$ 973.25	\$ 9.00 \$ 765.00	\$ \$	\$ \$	\$ \$		
5.3 20 Inch Asbestos-Cement Pipe, Class 2400, 4,175 lineal feet	\$ 12.40 \$ 51,770.00	\$ 13.00 \$ 54,275.00	\$ \$	\$ \$	\$ \$		
<pre>5.5 6 Inch on 21 Inch Asbestos-Cement Tees, 8 each</pre>	\$ 98.00 \$ 784.00	\$ 200.00 \$ 1,600.00	\$ \$	\$ \$	\$		
5.6 8 Inch Asbestos-Cement End Plugs, 2 each	\$ 5.00 \$ 10.00	\$ 10.00 \$ 20.00	\$ \$	\$ \$	\$		
5.7 6 Inch Asbestos-Cement Service Laterals, 320 lineal feet	\$ 12.35 \$ 3,952.00	\$ 20.00 \$ 6,400.00	\$ \$	\$ \$	\$		
TOTAL ALTERNATE #1	\$ 59,009.25	\$ 64,010.00	\$ ====================================	\$	\$ ==========	ं ् वृश्चयसम्बद्धाः है .	
(ADD)(DEDUCT) from the Basic Contract the Sum of	DEDUCT \$ 290.25	DEDUCT \$ 6,120.00	\$	\$	\$ ====================================	4 00000000	==
(Cross out one to show appropriate word)		•		•			